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You can get books, notes, dictionary and a calculator into examination room.

2. You have to fill your name, surname, and ID on this page and fill only your name on the
top right of the other pages.

You can use pencil to do the exam but do not use “HB” pencil (2B is preferred).

4. The total score = 35 points.
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1. Describe the Resources flow component of basic productivity management process as shown

in the figure below.
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2. Explain how the “Work Study” can improve the productivity.

3. A company produces 20,000 cartons of product in August using 100 workers. The company
has twenty working days and eight hours a day on that month. The later month (September)
the company produces 22,500 cartons using 110 workers. The same number of workdays and
daily working hours are used.

3.1. (1 points) Compute the labor productivity (in term of man-hour) for the August.
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3.2. (2 points) Compare with the August, how many percent of labor productivity is changed
in September?

3.3. (1 points) Assume that after the company produces 22,500 cartons, the product is unable
to sell all. So the company changes the price from 150 Bahts/carton to 125 Bahts/carton.
Compute the incomes of both months and the percentage of income increase (or
decrease — depend on your answer) in September when compare to August.

3.4. (1 points) Assume your answer in 3.2 is +4% and 3.3 is -7%, what do you think about
these answers in respect of (luudueq) productivity.
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4. Answer T or F. Answer “T” if you think the sentence is true and “F” if it is the false
sentence. (question 4.1 —4.10)

4.1.Productivity ratios always greater than 0 but lower than 1.

4.2 .Productivity improvement will occur if both output and input increases, but input
increases at a lower rate

Answer ............

4.3.An outline process chart sometime is called the operations chart?

4.4 Frank Bunker Gilbreth is a person who studied and improved the bricklaying operations.
Answer ............

4.5.F.W.Taylor is the pioneer of Method Study.

4.6.When cutting a paper using a scissors, cutting through a curve line is less convenience
than zigzag line and speed is not constant.

4.7.Hand and body motions should be made at the highest classification to do the job
satisfactorily.

4.9.When creating an outline process chart, the “main part” is always placed on the first
vertical line from the right.

Answer ............

4.10. Efficiency is the ratio between resources expected to be consumed and resources
actually consumed.
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5. Create a chart to show the activities sequence when you go to lunch (Thai fast foods —
Y11319un9) at the canteen of the faculty of engineering. The chart begins when you are
waiting on queue and stop when you place the empty dish on the shelf.
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6. The following man and machine charts display activities for slitting coated fabric. You have
to fill the disappeared data on the charts and find how many per cent of an improvement

between the present and the propose method. (91aqmunmaﬂuﬂ1i1ﬂwanwwuﬂaﬂwmu)

OPRRATION: _Stitting Costed Fabric | Oi. no, 548
PART NAME:  Costed Fabric l PART NO, F261
MACHMINE BAME: Stitting Machine (Specisl) mc.n. no. £431
GPEIRATOR NANE: J. 5. Wilson S,K. Smith (Helper) I DATE:
otowgmion, () wwrmoveowemoni (1 Jommrem a5k |
Opunm Yhu? He!w nm* Machine Time*
- % %
- "f Prepars wrappers 9 ’é/
» ] end abels Z
: g g
- N %
104~ * {f ,
= Run machine g Silt stock
- 7
~ é Walt for machlos 1.3
: %
20 Z
g - Wait Tor hal 5/;
E F 7 [l wrep roits 9 g
£10 :"‘"“‘"""“'""" {i
é ~  Label rotls 06 ﬁ/l
- 7
:“..__...... [ Sg— é Walt for operator o7
[ Onvinder | A —f .
wf- 7
- Walt for helper 8 B Remove rolls * ‘g’;
- Z
: /i 1
- %2 7
50 ~_Stert machine B ﬁ Place on skid * %
- Z 7
z‘ﬂma fn minutes
Summary
Operator Helper , Machine
Hile time * min, * min, * min,
Worklng time * * %
Tots! cycle time * * *
Uttlizstion
in per cant
3 * %

page 7 of 10



Time in minutes
facd ad
(=) o

w0
x
(=)

Fo' lna(Funsonsvia)

......................................

OPERATION: Siitting Costed Fabric

OF, N0, S48

PARY NAME:

Caated Fabric

PARY NO, F261

MACHINE NAME:

Slitting Machine (Speciat)

KACH, NO. S431

OPERATOR NAME:

J. 5, Wilson

§. K. Smith {Helpar)

DAYE:

]

IMPROVED METHOD:

OLD METHOD: CHART BY: 1. 5. K,
, & L T o
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7. The picture (Fig. 1) as shown below is the operation of incising (ﬁ”a) a fresh shrimp. This

operation is a part of the frozen shrimp production processes. The details of this operation are
described below the picture. Construct a two-hand process chart.
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Two-hand process chart

......................................

.. . Symbol | Symbol | Descriptions of left hand
No. | Descriptions of right hand (left) (right)
1 | woufa O D sofiody
2
3
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